Table 3: Cross prodhuct over complex: vectors and its related properties

Description Formalized signification
q = XY, X ceross 1 = vector (182 # Y43 - K43 * 18D,
Cross product
183 % Y81 - Y81 * Y83: X§1 * Y82 - X§2 ¢ Y§1]
, - 11, cvector zero ceross X = cvector zero /\
Cross Zero 3 Zeno
X ccross cvector-zero = cvector.zero
Irreflxivity - 1. X ceross X = cvector.zero
Asymmetry - 1Y, == (K ccross 1) = ¥ ccross |
- YL (X+Y) coross T= X ceross 7+ 1 ceross Z /\

Distributivity over addition
X ccross (Y +7) = X ceross ¥ + X coross Z

e XY (cfE) ceross V= ¢ ) (X ccross ¥) /\

Distrabutivity over scalar multiplication
X ccross (¢ 4 Y) = ¢ (X ccross ¥)




